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1. With the data in the given figure, ACFE = ACDE by which property?
E

C

(i) SAS Congruency (ii) SSS Congruency (iii) not congruent (iv) RHS Congruency (v) ASA Congruency

2. With the data in the figure, AADB = ACDB by which property?
A

B C

(i) RHS Congruency (ii) ASA Congruency (iii) not congruent (iv) SAS Congruency (v) SSS Congruency

3. With the data in the figure, ACDF = ADCE by which property?
F E

C D]

(i) RHS Congruency (ii) ASA Congruency (iii) not congruent (iv) SAS Congruency (v) SSS Congruency



4 In the given figure, points | , ] and K are the mid-points of sides GH, HF and FG of AFGH. Which of the following are

true?

a) AFKJ = AJIH

b) AFKJ = AlJK

c) AKGI = AlJK

d) AKGI = AFK]

e) AFK] = AlK]

F
K ]

G H

(i) {e,d,a} (i) {e,b} (ii) {e,c} (iv) {e,a} (v) {a,b,c,d}

5. With the data in the figure, ACDG = ADCH by which property?
F E

C D

(i) ASA Congruency (ii) RHS Congruency (iii) not congruent (iv) SAS Congruency (v) SSS Congruency

6. With the data in the given figure, AQCD = ARDC by which property?
Q R

C D

(i) RHS Congruency (ii) SSS Congruency (iii) ASA Congruency (iv) SAS Congruency (v) not congruent



7. In the given figure, which of the following is true?
F Q

(i) AFGH = ARSQ (ii) AFGH = ASQR (iii) AFGH = ASRQ (iv) AGHF = AQRS (v) AFGH = AQRS

8. Identify the property by which the two given triangles are congruent

A Ll
i ' S ol
B C M 0

(i) SSS Congruency (ii) ASA Congruency (iii) RHS Congruency (iv) SAS Congruency

9. With the data in the given figure, AMNP = AONP by which property?
0

M

(i) ASA Congruency (ii) RHS Congruency (iii) SAS Congruency (iv) not congruent (v) SSS Congruency

10. With the given data in the figure, AKLM = AMNK by which property?
N M

-

K L

(i) RHS Congruency (ii) not congruent (iii) SSS Congruency (iv) ASA Congruency (v) SAS Congruency



11. With the data in the given figure, ALGH = AKHG by which property?
] |

G H

(i) not congruent (ii) SSS Congruency (iii) ASA Congruency (iv) RHS Congruency (v) SAS Congruency

12. Which of the following are true?

a) Similar figures have same area.
b) If two figures are similar, then they are congruent too.

)
)
c) If two figures are congruent, then they are similar too.
d) Congruent figures have same area.

)

e) Similar and congruent are not synonymous.

(i) {a,c} (i) {a,b,e} (iii) {b,d} (iv) {a,c,d} (v) {cde}

13. With the given data in the figure, ALMN = AONM by which property?
L O

M N

(i) not congruent (ii) ASA Congruency (iii) SSS Congruency (iv) RHS Congruency (v) SAS Congruency

14. With the data in the figure, AAED = ABEC by which property?
D

A B

(i) SAS Congruency (ii) RHS Congruency (iii) not congruent (iv) ASA Congruency (v) SSS Congruency



15. With the data in the figure, ADOE = AFOG by which property?
G F

D E

(i) not congruent (ii) RHS Congruency (iii) SSS Congruency (iv) ASA Congruency (v) SAS Congruency

16. In the given figure, ADEF = AUVW. Which of the following are true?

a) UV =13 cm
b) WU =12cm
c) WU=13cm
d) VW =11 cm
e) VW =13 cm
f) UV=11cm
D W
s\
2 & u
v
£ 11 ecm F

(i) {e,a,b} (i) {c,a} (i) {e,b} (iv) {a,b,d} (v) {fcd}

17. Identify the property by which the two given triangles are congruent

B P
. Y I
C B} Q R

(i) SSS Congruency (ii) RHS Congruency (iii) ASA Congruency (iv) SAS Congruency



18. In the given figure, which pair of triangles are not congruent ?

N

fig 3 fig 4

) b

figl fig 2

(i) fig2 (i) fig3 (iii) figl (iv) fig4

19. With the data in the figure, AHIK = AHJK by which property?
H

| J
(i) not congruent (ii) SSS Congruency (iii) RHS Congruency (iv) ASA Congruency (v) SAS Congruency

20. In the given figure, AFDE is an isosceles triangle. CG L DE passing through F. ACFD = ACFE by which property?
{2

H
D G E

(i) ASA Congruency (ii) RHS Congruency (iii) SAS Congruency (iv) not congruent (v) SSS Congruency



21. With the data in the figure, ADOE = AFOG by which property?
F

@
2
(@)
m

(i) ASA Congruency (ii) SSS Congruency (iii) SAS Congruency (iv) RHS Congruency (v) not congruent

22. With the data in the figure, AADB = ABCA by which property?
B C

)

by

B

(i) ASA Congruency (ii) not congruent (iii) SSS Congruency (iv) RHS Congruency (v) SAS Congruency

23. With the given data in the figure, ADCF = AEBF by which property?
D E

!
Y
=

B E

-

(i) not congruent (ii) SAS Congruency (iii) ASA Congruency (iv) RHS Congruency (v) SSS Congruency

24. With the data in the given figure, AFIO = AGHO by which property?
|

A

F G

(i) SAS Congruency (ii) not congruent (iii) RHS Congruency (iv) ASA Congruency (v) SSS Congruency

25. Which of the following are true?

a) Any two squares are similar.

b) Any two squares are congruent.
c) Any two circles are congruent.
d) Any two triangles are similar.

e) Any two triangles are congruent.
f) Any two circles are similar.

(i) {cf} (i) {af} (ii) {bf,a} (iv) {de,a} (v) {b,a}



Assignment Key

1) (ii) 2) (iii) 3) (iii) 4) (v) 5) (iii) 6) (iv)
7) (v) 8) (ii) 9) (iv) 10) (iv) 11) (iv) 12) (v)
13) (v) 14) (iii) 15) (i) 16) (iv) 17) (ii) 18) (ii)
19) (i) 20) (iii) 21) (v) 22) (ii) 23) (iii) 24) (i)
25) (i)
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